Binary

Base 10 invented by Hindu’s          Taken by Arabs        Stolen by Europeans during the crusades.

First numbering system was base 12.   Why?

Babaoleans could count to 60.       One hand was base 12 using segments.   Other hand keep track of how many times segments were used.

512 place value system

     First columns value of 1s


Second columns value of 10


Third columns value of 100

Base 10

Exponent

103   102    101    100
Numbering system is bases on Arabic.     In Arabic you read right to left.

First computers were octal based and ran on coal.

What is my age in binary

Write your age in binary

Binary

23   22    21    20
All numbering systems the first column must be able to equal 1

Digital is either High or Low           Not really On and Off   

Switches are labeled   l or O         why?            

1 or 0    is a bit

2 of them is a crumb

4 of them is a nibble

8 of them is a byte   (grouping of 8)

16 of them is a playte

32 of them is a dynner

64 of them is a table

20 gigabyte ipod    =   1,073,741,824 bytes

CDs are high and low spots.    How many are on there

Sum of the weights is the most common method of binary/decimal conversion

For base 16 we need symbols.   Any shape will do.   Since we used up all the numbers, how about letters.    If we were to use (10) there would be 2 symbols.

Base 16 allows representing large values compactly.

Hexadecimal numbers work very well with conversion to binary.   Work well together.    Program microcontrollers you will be using hexadecimal.

Hex to decimal the magic number is 4

50116   is not Five Hundred and One.    It is five, Zero, One base 16

Teach only sum of the weights for conversion of numbers.

24 = 16    helps to convert between base 2 and base 16          

In digital world start using the word low instead of zero

